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INSTRUCTIONS; TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately. ’

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of one mark
each. Part — B contains 15 questions of two marks each. All questions must be
attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Answer all questions. Each question carries one mark. (1x40=40)
SR, TIene wudon. e TIA30 208 BOBB, BROOTBT,

1. The National Science Day is observed every year in India on

a) March 28 b) September 16
c) June 21 d) February 28
Po0BTY) T8 wRF Togyeady eI @5&5&2{ ER3OROT)T
a) Ses 28 b)/ h‘aZowoc 16
C) R 21 d) ey,=0 28
2. The World Wide Web was developed by
a) Bill Gates b) Charles Babbage
c) Tim Berners-Lee d) Blaise Pascal
m:g;— a:;:s‘ du‘z&& @@%% TBRATTTH
a) R rﬁeés: b) WO W eiees*
C) &33° aic;c: Oe d) 2§ S T
3. Insomnia is a characteristic feature of
a) Schizophrenia b) Depression
c) Epilepsy d) Psychosis
NV apIiclevs) OF £a35033
a) A2inesg,eosm b) 2033
C) @&@3&1) d) XBeerz

4. Which of the following is a non renewable Source of energy ?

a) Solar b) Wind c) Coal d) Biofuel
é@#ﬂaﬁ@r{@@ﬁ o3RS xowm% © 38 om;% R0 mesaxe:am@@g ?
a) xPg b) I= C) ﬁe?ﬂcg@o d) AL Tel Ty

SPACE FOR ROUGH WORK
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5. Antibiotics

a) Do not destroy viruses

b) Should be taken preferably in the morning

c) Were known around the time of the first world war
d) Have no known side effects

3, 0L30CIREEITE

a) FoFNII) TOBRRPBOYDY,

b) B¢NT BrTYe IrcoBREIEE

C) RATOR BOTII0TT FoOTLE 890
d) Rz BOROFTINTY,

6. A social science is the systematic study of

a) The natural world b) Models of reality
“¢) Human behaviour and society d) Experimentation
NI &)u’:%gﬁ@ aﬁéai‘%a:émd 20T e:aqﬁesoi)aia'ahd

a) JRNFE T,Tow b) w3 WRTOND
C) TNIT JBFS 0B AINTW d) ,odeen

7. The first stage of industrial revolution
a) Consumable goods production
b) Capital goods production
c) Standardization
d) Productivity
3 0B 59,0800 BRTOH BO3
a) esR0YdReNs JTTONY m@}%
b) 2208% RTBONS LSBT
C) &,BREICTTED
d) BT

SPACE FOR ROUGH WORK
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8. The theory that evolutionary change is slow and continuous is known as

a) Punctuated equilibrium b) Geographic isolation
c) Speciation d) Gradualism

VTN FWIB) VTOZT DFITTT WTCRTFBOD AT 0BI0TT

a) MOTHERTT ARV b) Prirews =3 ea3

C) &,y3ee3TED d) @mwcz:a’

9. Darwin’s theory of evolution is based on the concept of
a) Use and disuse b) Natural selection
c) Mutations d) Hybridization

TONF I TRT VFRT AT 085y BTOITT TOTVR

a) WYF T2 WERDTIEYHTO b) J=nes e:scjo‘5
C) U3 TOWSFS d) Q03,89

10. Which of the following is considered to be bacteriostatic ?
a) Penicillin b) Ciprofloxacin
c) Cefotaxime d) Chloramphenicol

FENTRYNSS, o:ira@css.gL ‘mé%ebqimmww#’ Q0T JONETRTONT 2

a) BN b) 23R, TR’
c) k’aojaemsé)w d) BRTEFTITCT
11. Nuclear Reactors usually employ
a) Fusion b) Fission
c) Both a) and b) d) None of the above
TORRERD DCIRFTTEL ROTOT, TN WHRBRWTTO
a) AN b) NTTS
C) a) 302 b) d) RoedT cnue e,

CSIYA™ /A mAlIfAil (RIS
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T2.

13.

14,

18

GPS means
a) Global Pointing System
c) Global Positioning System

GPS 203
a) Global Pointing System
c) Global Positioning System

Penicillin is obtained from
a) Algae

c) Bacteria

ﬁ@q@a‘ﬁ% BROTOFTO

a) ©ofR(TowW)

C) ADK-[Relovip)

AL

b) Globe Positioning System
d) General Pointing System

b) Globe Positioning System
d) General Pointing System

b) Fungi
d) Virus

b) Forf, (8Deogyned)
d) o=

What is the common environmental problem with the use of detergents ?

a) Soil erosion
c) Eutrophication

b) Global warming
d) All the above

WIRWEBNG WHFW0TT TOXTT Foees OO WeTOI TS0,

a) o XT33P
C) cdwedn,eq8es*

Why is nuclear radiation dangerous ?

a) It explodes when touched
b) It causes blindness

c) It can change your DNA
d) All the above

TVORIVEN FTED 9550030500 0F 9

a) ISFATN :’;@Jewmv%gd
b) @oz;%ﬁa"% VOB RBITE
C) DNA & &narazoges

d) R0edT 2P

b) onés TIPS
d) 2oedT 230
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16. Moving from one website to another is called

a) Jumping b) Surfing
c) Web jump d) None of the above
20T 3?.36:3 &0 mé@,ods; BORZ)THd
a) a:a:rv(z’ﬁc:oo@m) b) BoFon®
C) 3w =oz* d) e P e
17. The main constituent of CNG is
a) Methane b) Butane C) Ethane d) Propane
CNG 3903 B0, e03red
a) Qegent b) e, ede® C) ages® d) p e
18. First manned landing on the moon was done using
a) Apollo 9 b) Apollo 10
c) Apollo 11 d) Apollo 12
JRTEO SR BT, FoesS sz JINRTEO WA
a) “Fpecine 9 D) esZpecine 10
C) e=Zpectne 11 d) oZpecine 12
19. Which one is found only in males ?
a) X chromosome b) 2X chromosome
HEe chromosome d) Y chromosome
e@d)ﬁd@;q [N, TR
a) X SIearzosy b) 2X Searz02)
) O Searzo d) Y Sear30z)
20. Which of the following causes the least pollution when burnt ?
a) Petrol b) Diesel ¢) Natural gas d) Coal
VRINYEY P> LVOATIN 52’0&% m@agywmq mowmmgd 4
a) Jedp ek b) &exer C) JANFT o0 d) 5@%@3

SPACE FOR ROUGH WORK
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2+.

22.

23.

24.

25.

In which year Sir C.V. Raman won the Nobel prize for Physics ?

a) 1920 b) 1922 c) 1938 d) 1930
PETATY RO'. 3.9, CORFTTRON 0dnE BRFTE, Feewer T3y Fo0d 9
a) 1920 b) 1922 c) 1938 d) 1930

To whom we will call as a “Missile Man of India” ?

a) H.J. Bhabha b) Vikram Sarabhai
c) A.P.J. Abdul Kalam d) Sathyendra Basu
Aplein gms OWH," 0T cmadas’% FEORPNIBTE ?

a) .28, oy b) &8,e30° ToTwRow
C) .k, BUOLF FLDO d) =, 0T, WRS

In Karnataka where atomic power station is placed ?

a) Shivamoga b) Kaiga c) Hubli d) Dharwad
TIOF BT, 30 AW, T TTT 29T ?
a) dwRery b) &m0 C) BOWS), d) ToT=n@

In which year ISRO launched MOM (Mars Orbit Mission) was successfully
entered to the mars orbit ?

a) 2012 b) 2010 c) 2014 d) 2015

VAR, ¢ R MOM (Mars Orbit Mission) soons 1,&es 518 oI o3BN
T BeSATH.

a) 2012 b) 2010 c) 2014 d) 2015

In feudalism lords were called as

a) Dukes and Earls b) Baronus

c) The king d) Lesser Lords
PWITIRERT; HHE0DY, BT ITTY DOT FTCINETT.
a) BRF W Sty b) wSeTs’

C) & done d) S30° o
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26. The ancient Babylonians found to use the soap around

a) 3800 B.C. b) 2800 B.C. C) 2500 B.C. d) 2400 B.C.

2,286 2 abei:aeaojosq oV ﬁqu WPRT BT

a) 3800 B.C. b) 2800 B.C. C) 2500 B.C. d) 2400 B.C.
27. Moderators are used in the nuclear reactors to

a) Accelerate the neutrons b) Slow down the neutrons

C) Produce neutrons d) To absorb the neutrons

TODIE0 amgpmq ‘madeésc:’agi WTRORTH

a) Rir%éap)asw Sen éagdzb@m - 1)) 8B, 8,3° 1Y e ORI

c) masésp)a‘ﬂ%f BT d) méwp)aewq STV
28. Who announced the introduction of National Foog Security Act ?

a) Pranab Mukharjee b) Manmohan Singh

c) P. Chidambaram d) Arun Jaitley

Ooduecd> smos 5,30 azc&:c:’ca:a% FRERATTT odngy ?

Q) Te9er weze b) FZeemr vome

C) &. 285025z d) «thss 2eed

29. The National Bank for Agriculture and Rural Development (NABARD) was
established in the year ?

a) 1970 b) 1975 c) 1977 d) 1980
NABARD X, AOQAT IR
a) 1970 b) 1975 c) 1977 d) 1980

30. Where is the Central Rice Research Institute located ?
a) Bengalury b) Cuttack C) Kanpur d) Coimbatore
w2z 9

@
a) onelns) b) gese c) LDVl d) iraeodoowa@d)
SPACE FOR ROUGH WORK
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31. In science, an educated guess is called a/an

a) Question b) Conclusion c) Hypothesis  d) Observation
D ST, 2T, OB NRTO30T B0
a) 3 b) &e=nrs C) 303 d) VTR

32. Which of the following is a proof of the Earth’s revolution around the sun ?
a) Rising and setting of the sun
b) Seasons
¢) Parallax of stars
d) All the above
é@iﬂs@mf@l O3RN BRODF A 2FRAOO ROBIDFOD PoosScInAS 9
a) mdés aaésawgdaw O S0FOMETOT 3,03

b) a3oned
C) 3§)§)r{e§ 23,03
d) DT 53
33. The Department of Science and Technology (DST) was established in India by
a) May 1971 b) June 1971 c) May 1981 d) June 1981
WOUBTE), QW T TBY 30_3)&%5 wIney) (DST) @dowmﬂw%
a) e 1971 b) =nez® 1971 C) o 1981 d) =z 1981
34. The process of repeated formation of species is called
a) Evolution b) Hybridization
C) Speciation d) Mutation
B, PeTN PIooRBIRR0wd dra@ﬁfae;bvd &,3,03
a) %R b) Q03,39
C) F,23eQe8Ted d) ez Tom3FrS
35. The term polymer is derived from
a) Greek b) Latin ¢) French d) English
‘ToORHT wda&g{ Gafefalovinjinb) :
a) n,es* b) SO C) P o0w* d) oner

QDACE AP AILIALL \RIs rais
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36.

37.

38.

39.

40.

The term ISP refers to

a) Internal Software Protocol
C) Internet Service Provider
ISP &)3&2{ ARWRITI 9

a) Internal Software Protocol
C) Internet Service Provider

The efficiency of solar cells is about
a) 25% b) 15%
PTEREBNY diécm mmqgs £y ROTRTD
a) 25% b) 15%

Entomology is the study of
a) Insects
¢) Entamoeba

QOIS @qﬁd VST Ihfolaviof
a) sewnshd
C) Q030D

The rings of Saturn were discovered by

a) Kepler
c) Copernicus

SS - 778

b) International Shareware Pool
d) Interface Standard Protocol

b) International Shareware Pool
d) Interface Standard Protocol

C) 40% d) 60%
c) 40% d) 60%
b) Plants

d) None of the above

b) Amnsh
d) 0T Iz Q)

b) Ptolemy
d) Galileo

N, BT AT [T emoﬁodﬁ%’&g{ FOROGRBTEI

a) &Fo’
C) BneTo*8xF
The Industrial Revolution began in

a) England
¢) India

gm0 59,0800 a@doz:mdc:%
a) |ortom*
C) 503

b) o
d) fOd3ne

b) U.S.A.
d) Germany

b) odn.a%%..
d) =X
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Answer all the questions. Each question carries 2 marks. (15x2=30)
QR TINERD YUZOR. B& BINe 2T 03N

41. The word “Agriculture” has been derived from

a) German b) Latin c) American d) Arabic
“Agriculture” 2ow DED, Q0T TBECHNT.
a) BWRFI* b) o9, C) &9330e03* d) eBews®
42. Which group of organisms is believed to be among the earliest to evolve on
earth ?
a) Arthropods b) Coelenterates
c) Protozoans d) Reptiles
R0 e Bemen uocﬁ&)focﬁ 23N Q0T SOWESHNT.
a) ©,08R, e’ b) %)eejoésde&sfv
c) egp emezﬁfaeﬁ‘ d) S e’
43. A sheet of newspaper is about thick
a) 100000 nanometers b) 10000000 nanometers
c) 1 nanometer d) 1000 nanometers
2000 SR TEDO'S YD aSs]
a) 100000 nm b) 10000000 nm
c) 1 nm d) 1000 nm

44. Expand GSLV.
a) Geocircular Satellite Launch Vehicle
b) Geoelliptical Satellite Launch Vehicle
c) Geosynchronous Satellite Launch Vehicle
d) Geoorbital Satellite Launch Vehicle

GSLV @03

a) Geocircular Satellite Launch Venhicle

b) Geoelliptical Satellite Launch Vehicle

c) Geosynchronous Satellite Launch Vehicle
d) Geoorbital Satellite Launch Vehicle

F el P .. T 7 Y B Y YR TR EETYTITY ™™




46.

47.

48.

2/ Ingdian Mathematisians
c) Greek Mathematisians

§

0&eodd mésm:&ﬁ [ob)
Gl ﬁsﬁémrg 2 o%)

c)

(>

TCP/IPis a
a) Network Hardware
c) Protocol

TCP/IPc3

a) JFIF HomtePeos
C) Tp ceinesoer

€ 0ecimal number system in

13-

b) Roman Mathema
d) Latin Mathematis

SS-778

use today was first recorded in

tisians
ians

03 u@éaﬁoe; OO TZ=R0T e308 qswz;om% BT TDDJTIS

b) dnrexdss nwzm@% D
d) R ﬁséémm; gy

b) Network Software
d) None of the above

b) sz Roge 3ewe
d) R0edT BT ©e)

Which of the following definition for “science” has been coined by

a) Science is a way of thin
b) Is an intellectual activity
C) Science is a knowledge

king much more than it is a body o
carried out by humans
covering general truth

d) Science is uncertain and subject to revision

@

What are the causes for low agricultural

a) Social environment

) DWTY W RO, :))egsma X atotel i
d) Rlaphay BOEBZNTD Tone @ﬁmﬁérﬁmvgd

Lack of credit and marketing facilities

d) All of the above

)
D) Pressure of population on land
C)

)

€

0T 3R T X WVBTFIR FOTEANPOR)) ?

J

PRRBT TOXT

3

MWOT 8208 Ty Fnods

d) RedT wezge

IR0 Dees um’o&jgoi) w33

8 P 3 2o
ed )

‘Carl Sagan’ ?
f knowledge

productivity in India ?
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49. The German Physicist/Scientist proved that the earth and other planets move

50.

51.

round the sun not in a circle, but in elliptical orbits was
a) Tycho Brahe b) Sir Isaac Newton
c) John Kepler d) Galileo

HRW Torte 3B R,Brish ZRcFS A S0mITITN AR, ,T9F0TN ey
ROUWOTI), DTRRAT BZFF* NI

a) gdne wp,Ie b) o 2077 R 3t
C) % FHo* 7 d) "dDdne

Smart materials are those materials

a) That responds to a change in their fossilized and hydrocarbon form

b) That responds to a change either in the temperature moisture and pH

¢) That can be controlled by external factors such as mechanical stress etc.
d) Both b) and c)

AT E0E3000* 20TT

a) TER,CFVFT Tone TICOVENY LSRR T, 88,00

b) 2oT=RE Bez008 ot pH 3 BRI 3,88, 00%0TE

C) @d@* NOI00E, RO maes BOBNTOT 03708,3 WS 2.0
d) b) &= ¢) 2T@ER

Hemochromatosis, sickle cell anemia, down syndrome are examples of
a) Diseases as a result of complications due to HIV

b) Dystfunctional gene behaviour caused due to mutation

c) Health hazards as a result of increased use of GM crops

d) Diseases where no new cases have been reported since year 2000
SeRRER, 0T LIRERTF, B B LRI, TR ROTR, 61 LVTOBTER R
a) HIV o 208208 ev03omyss a0

b) ez BomErSonos L0 sérﬁodyai; aﬁecdoﬁm@mgd

) GM crops 98 w003 evosns ejdram?j ciolelate] (:daim;)

d) 2000 ==FR0m BRde Eex Eanleviloratoy) WOROINY,

PUPR B PSP e em e —
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52
52

53.

7€ "green revolution” is criticized by some because

2) it created an agricultural surplus

SS -778

D) It promoted many varieties in food grains
C) It enhanced the dependence on fertilizers and many pesticides

d) None of the above
BRATL B9
a) @ 3,8 0TI QU0 BIRERB)

59,0803 88 398595008 weémvmﬂ&

b) aomcb d ei)cs elovh) w:orie;m SV 2320

c)
d) Soeds m@m Q)

The process of hypothesis testing has
a) 6 steps b) 9 steps
@ﬁq)ﬁm aez?odo ,8,0300320

a) 6 b) 9

. Principle of laser is

a) Spontaneous absorption
¢) Induced emission
Jeno'S 32
a) 3o aoeaa’.w%@m

C) =008 BT BRI

- The prefix “nano” comes from a

a) Greek word meaning dwarf

¢) Latin word meaning invisible
3,3ReT Jpr %800

a) N,65 I3 03l 0L,

C) o, 8° TT 033 esrteess

cra*?odozbs ﬁrawdm# Tonn m@mf w;écmm éwr\)&

C) 7 steps d) 8 steps
8037?%3&3{ WERROBT.
c) 7 d) 8

b) Stimulated emission
d) All of the above

b) evZeess Bro ReRond
d) e 2es3e

b) Spanish word meaning particle
d) French word meanmg billion

ROT 0003

b) A QT T3 90333 Bed
d) 0w TS 0wS VAT




